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| Canarllesapb/Caesarsalad ..o, 100....130
I Canat OnuBbe/Russian salad .............ccccceeevrvecvenennne. 150....... 80
I bopuy/Red beetroot SOUP .......c.ceeveveveevciciiicieee 200/30.....100
Nanmwa kypuHasa/Chicken SOUP ......cccovevveeeeeeeeeeee. 200....100
I Cyn kapTochenbHblii ¢ hpukagenbkamu/
I Potato soup withmeatballs ..o 200.....100
| NMenbmewku camonenubie/Pelmeny .............cocoo....... 150....100
P o | Kypunbie Haretcbl/Chicken nuggets.......ccccceeveeenenee. 150.....130
W-* | Wawnbi4ok u3 kypuubl/Chicken shashlik.................... 150....130
- I CobipHble wapukn/Cheese balls ...........cccoeveeenee. 200/50.....200
\ \J I Xne66yprepb! ¢ COYHON roBSUHOI
Xlebburgers with sappy beef ... 250 .....300
I Xneboyprepbl ¢ HeXHEALEA KypuLen
| Xlebburgers with tender chicken ... g W, 250 .....
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MopxkosHbii gecept/Carrot dessert ............. 140 .....160
Yuskeik/Cheesecake ..........cccoceevevevceennnee 85 ....100

MakoBbii gecept/Poppy seed dessert ........ 125 .....200

Air-chocolate dessert..........cccoveveveevvceennns 100 .....200
Menosblit gecept/Honey dessert ................... 100....180
M pecept/Lemon dessert ................ 110.....140
........... 110....100

..... 120

%anuml&u/@evemges

BopaboHAkBaras/veras cr.6. 0,25 ?
BonAqua sparkling/still water in glass bottle 0,25 ............. 90
Bopa Anbn Ckait ra3/weras ct.6.0,25

Alp Sky sparkling/still water in glass bottle 0,25 .............. 100
Bopa lepoe (numoH) ras ¢1.6.0,33

Perrier lemon sparkling water in glass bottle 0,33 ........... 150
Bopa Butenb Heras cT.0. 0,33

Vitelli still water in glass bottle 0,33 .........cccvevvevveveiennne. 120

Koka-kona, ®anta, Cnpaiir, LLisenc ¢1.6 0,25

Cola, Fanta, Sprite, Schweppes in glass bottle 0,25 ......... 100
Cok B accoptumenTe, 200mn/Juice 200 Ml ..........cocovee...... 50
Mopc, 200mn/Fruit drink 200 Ml .......c.oooveveieeeeeee 50
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